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GUARDS ASSIGNED <2
— —
HIT & RUN SHIP DATA TABLE PLAYER ARCHEO-THOLIAN >
DERFACS | |TYPE = TCC o
LN | IR g TOURNAMENT 2
SHIELD COST = 1+1 || RoUND COMMAND CRUISER m
LIFE SUPPORT= 1 m
CHTR S5IZECLASS = 3 REYISED 20 JUNE 2002, SHIELD #1 =
BOARDING PARTIES g
HEEEERD :||
* E3
TYPE | DFFENSIYE PHASER TABLE P A SE“:E—SDR D”"TCDN FAE Ly —
DIE RANGE 6- 9- 16- 26- 51- — — [
ROLL 01 2 3 4 5 & 15 25 50 75|| URN SPEED 5 ki n
19876554 3 2 1 1]]g 2 B-10 = i =
2 8 76 554 3 2 1 1 0 3 11-1s 0 B
3 755 4 44 3 1 0 0 0 ||[HET — &
4 6544443 2 00 0 0 4 16-21 el EH-)-Fa O]
5 5444331 00 0 o0|[BD 9 2228 SLANNER ExDaM
6 4 4 3 3 2 2 0 0 0 0 0 6 29+ % BRDG |
ADMINISTRAT IVE SHUTTLES TYPE 111 DEFENSE PHASER — fLas FRE ETIER -
IDENT | HIT POINTS | NOTES DIE RANGE 4- 9- L -
ROLL O 1 2 3 & 15 E e £ HULL oF ||
4 4 4 3 1] swewo=s [5| / BIMFCIT T T LT TTTTIETE] \ [ st =3
3] JLwarP  LAB TRANS  BATTERY RWARP
DI A A - ] L1 LI -
304 4 4 1 0 0 >
PROBES 4 4 4 3 0 0 0 || IMPLLSE [ ] 3
111 1= S 4 3 2 0 0 0 | (17
DISRUPTOR TABLE e 3 5 1 0 0 0 TENARE m
RANGE 0 1 2 3-4 5-8 9-15 16-22 23-30 @)
HIT (5700 NA  1-5 1-5 1-4 1-4 1-4 1-3  1-2 —
HIT(DERFACS) HA 1-5 1-5 1-4 1-4 1-4  1-3  1-3 (I)
HIT(OUERLOAD) 1-6 1-5 1-5 1-4 1-4 HA  HA HA SHIELD #4 =
DAMAGE, 5TO o5 4 4 3 3 2 2 Lr e FA = LF + RF >
DAMAGE.OULD 10 10 & & & 0 0 i R{=L+LR+RR+R zZ
WEB CASTER STRENGTH TABLE WEB FIST TABLE L R LS =LF +L + LR 8
ENERGY * OF WEB HEXES CREATED|[RANGE _1-10 11-20 21-30 b SNARES ARE DESTROVED ON “DRONE” HiTs. R o - Rt + R+ RR c
USED 1 2 3 4 5 |[HIT -4 1-3 1-2 THIRD DRONE HIT MUST BE SCORED ON THE WEE CASTER. Py
MISS 56 4-6  3-6 S
1-2-3 10 3 3 2 2 ENERGY DAMAGE HIT & RUN TABLE H&R vs GUARDS >
2-3-4 20 10 & 5 4 1 2 0 0 1 [5¥STEM DESTROYED; BF RETURNS 1-3] BF DESTROYED =
3-4-5 30 15 10 7 6 . 4 2 i 2 |SV¥STEM & BP DESTROVED 4-5[ P RETURNS m
4.5.4  35% 20 1% 10 & i g ‘6‘ i 3-5|SYSTEM UNDAMAGED; BP DESTROYED & | CONDUCT H&R =
5_H-H 35% 2§ 16 12 10 5 10 a & & |SYSTEM UNDAMAGED; BP RETURNS —
WARP ENERGY MOVEMENT COST = 2/3 ENERGY POINT PER HEX [5] = HET COST %
SPEED 1 2 3 4 [5] 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 C
Standard 1 2 2 3 4 4 S 6 6 7 B 8 9 10 10 11 12 12 13 14 14 15 16 16 17 1& 18 19 20 20 (I_{_I)
Fract. 24 1l 2 284 3l 4 4% Sls 6 6% 7% 8 8% ol 10 10% 11l 12 12%%13% 14 14%15% 16 16%417% 18 18%4 10k 20 T




